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KEY FOR CLASS :  3

Explanations and answers to select questions

14 Option (B) is the correct answer. It is a ‘descriptive adjective’, that tells more about the
noun (sleeping bag), as regards its comfort and warmth. ‘sleeping’ is not the adjective of
the word ‘bag’, but is a part of the non-hyphenated compound word, ‘sleeping bag’.

15 Option (C) is the correct answer. The three syllables are : ‘Guard-i-an’.

22 Option (D) is the correct answer. A pad is made by bringing sheets together and so is a
bouquet made by bringing flowers together.

24 Option (D) is the correct answer. ‘Whales’ are the only ones that are mammals.
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